




Question 1- There is 60 liter of pure milk in a jar. If 12 liter of milk is 

taken out and replaced with water. This process is repeated total three 

times. Find the ratio of milk and   water in final mixture. 

प्रश्न 1- एक जार में 60 लीटर शदु्ध दधू होता ह।ै यदद 12 लीटर दधू दिकाल कर उसके 

स्थाि पर पािी डाल ददया जाता ह।ै इस प्रदिया को कुल तीि बार दोहराया जाता ह।ै 

अंदतम दमश्रण में दधू और पािी का अिपुात ज्ञात कीदजये।

A.64:61

B. 61:64

C. 51:64

D.22:63

E. None of these





Question 2- A person have milk at cost Rs 80 per liter. In what ratio 

must he mix water so that there is a profit of 14.28% after selling the 

mixture on its cost price.

प्रश्न 2- एक व्यदि के पास 80 रुपये प्रदत लीटर की दर से दधू ह।ै उसे पािी को दकस 

अिपुात में दमलािा चादहए तादक दमश्रण को उसके िय मलू्य पर बेचिे के बाद 

14.28% का लाभ हो?

A.7:8

B. 9:1

C. 1:8

D.7:1

E. None of these





Question 3- Two bottles P and Q contains  acid. In bottle P, the amount 

of water is double the amount of acid while in bottle Q, the amount of 

acid is 3 times that of water. How much mixture should be taken from 

each bottle in order to prepare 10 liters acid containing equal amount of 

acid and water

प्रश्न 3- दो बोतल P और Q में एदसड ह।ै बोतल P में, पािी की मात्रा एदसड की मात्रा से

दोगिुी ह ैजबदक बोतल Q में, एदसड की मात्रा पािी की मात्रा का 3 गिुा ह।ै एदसड और 

पािी की समाि मात्रा वाले 10 लीटर एदसड तैयार करिे के दलए प्रत्येक बोतल से दकतिा 

दमश्रण दलया जािा चादहए?

A.6, 4

B. 6, 3

C. 3, 2

D.5, 4

E. None of these





Question 4- 16 litres are drawn from a cask full of liquid A and  is then 

filled with water. This operation is performed three more times. The 

ratio of the quantity of liquid A now left in cask to that of the water is 16 

: 65. How much liquid A the cask hold originally

प्रश्न 4- तरल A से भरे एक पीपे से 16 लीटर दिकाला जाता ह ैऔर दिर उसे पािी से भर 

ददया जाता ह।ै यह प्रदिया तीि बार और दोहराई जाती ह।ै अब पीपे में बचे तरल A की 

मात्रा और पािी की मात्रा का अिपुात 16: 65 ह।ै मलू रूप से पीपे A में दकतिा तरल था

A.25 L

B. 30 L

C. 48 L

D.36 L

E. None of these





Question 5- A person covered 360 Km of distance in 20 hour. The first 

part of this distance is covered by bus with speed 25 km.hr and the rest 

part is covered by train with speed 15 km/hr. Find the distance covered 

by bus.

प्रश्न 5- एक व्यदि 20 घंटे में 360 दकमी की दरूी तय करता ह।ै इस दरूी का पहला भाग बस 

द्वारा 25 km.hr की गदत से तय दकया जाता ह ैऔर शेष भाग को टे्रि द्वारा 15 दकमी/घंटा

की गदत से तय दकया जाता ह।ै बस द्वारा तय की गई दरूी ज्ञात कीदजये।

A.120 km

B. 110 km

C. 150 km

D.200 km

E. None of these





Question 6- In what ratio three varieties of cost Rs 42, Rs 54 and Rs 68 

be mixed so that there is a profit of 10% after selling the mixture at Rs 

66/kg.

प्रश्न 6- 42 रुपय,े 54 रुपये और 68 रुपये की लागत वाली तीि दकस्मों को दकस अिपुात 

में दमलाया जाए तादक दमश्रण को 66 रुपये/दकलो पर बेचिे के बाद 10% का लाभ हो?

A.1:1:2

B. 1:1:3

C. 1:1:4

D.1:1:6

E. None of these





Question 7- A jar is full of milk. 25% of mixture is removed and 

replaced with water and this process repeated 4 times. Then find initial 

quantity of mixture. If the only 162 gram milk was remaining.

प्रश्न 7- एक जार दधू से भरा हुआ ह।ै दमश्रण का 25% दिकाल ददया जाता ह ैऔर पािी के 

साथ बदल ददया जाता ह ैऔर इस प्रदिया को 4 बार दोहराया जाता ह।ै तो दमश्रण की 

प्रारंदभक मात्रा ज्ञात कीदजये। अगर केवल 162 ग्राम दधू बचा था।

A.500 gram

B. 410 gram

C. 440 gram

D.512 gram

E. None of these





Question 8- 24 litre of liquid P is mixed with 72 litre of water. D litre of 

total mixture is taken out and 16 litre P and 24 litre water are added in 

the mixture. The final mixture contains 30% liquid P, find the quantity 

of the mixture that is taken out. 

प्रश्न 8- 24 लीटर तरल  P में 72 लीटर पािी दमलाया जाता ह।ै कुल दमश्रण का D लीटर 

दिकाला जाता ह ैऔर दमश्रण में 16 लीटर P और 24 लीटर पािी दमलाया जाता ह।ै अंदतम 

दमश्रण में 30% P ह,ै दिकाले गए दमश्रण की मात्रा ज्ञात कीदजये।

A.10 L

B. 16 L

C. 12 L

D.20 L

E. None of these





Question 9- A vessel contains 3 part of liquid A and 5 part liquid B. 

How much of the mixture must be drawn off and replaced with A so that 

mixture may have same ratio of A and B.

प्रश्न 9- एक बतति में तरल A का 3 भाग और तरल B का 5 भाग ह।ैदमश्रण का दकतिा भाग 

दिकाला जािा चादहए और A के साथ प्रदतस्थादपत दकया जािा चादहए तादक दमश्रण का 

अिपुात A और B के समाि हो?

A.2/5

B. ¼

C. 1/3

D.¾

E. None of these





Question 10- A person invested a certain amount in scheme A for 2 years at 

10% annual CI and the remaining amount in scheme B for 3 years at 20% 

annual CI. If the total interest amount received by him is 61% of the total 

invested amount, then find the ratio of the invested amount in scheme A to 

that in scheme B.

प्रश्न 10- एक व्यदि योजिा A में एक दिदित रादश को 2 वषों के दलए 10% वादषतक चिवदृद्ध 

ब्याज पर और शेष रादश को योजिा B में 3 वषों के दलए 20% वादषतक चिवदृद्ध ब्याज पर 

दिवेश करता ह।ै यदद उसके द्वारा प्राप्त कुल ब्याज रादश कुल दिवेदशत रादश का 61% ह,ै तो 

योजिा A में दिवेश की गई रादश और योजिा B में दिवेश की गई रादश का अिपुात ज्ञात 

कीदजए।

A.31:200

B. 41:121

C. 43:200

D.59:200

E. None of these





Question 11- A person sells two article for Rs 35000. He sells first at 12% 

loss and other at 23% profit. He sells both article at Rs 36050 then find the 

cost price of first article.

प्रश्न 11- एक व्यदि दो वस्तओु ंको 35000 रुपये में बेचता ह।ै वह पहले को 12% हादि पर 

और दसूरे को 23% लाभ पर बेचता ह.ै वह दोिों वस्तओु ंको 36050 रुपये में बेचता ह ैतो 

पहली वस्त ुका िय मलू्य ज्ञात कीदजये।

A.Rs 2200

B. Rs 2000

C. Rs 2500

D.Rs 3000

E. None of these





Question 12- A person bought two article in Rs 3600. He sells first at 5/4 of 

its cost price and other article 4/5 of its cost price. He gains Rs 360 as profit 

then find the cost price of  second article.

प्रश्न 12- एक व्यदि िे 3600 रुपये में दो वस्तएंु खरीदीं। वह पहले अपिे िय मलू्य के 5/4 और 

अन्य वस्त ुको उसके िय मलू्य के 4/5 पर बेचता ह।ै उसे लाभ के रूप में 360 रुपये का लाभ 

होता ह,ै तो दसूरी वस्त ुका िय मलू्य ज्ञात कीदजये।

A.Rs 1000

B. Rs 1500

C. Rs 2000

D.Rs 1200

E. None of these





Question 13- The ratio of land to water for the whole earth is 1:2 and 2:3 in 

the northern hemisphere. What is the ratio of land to water in the southern 

hemisphere?

प्रश्न 13- सम्पणूत पथृ्वी के दलए भदूम और जल का अिपुात उत्तरी गोलाद्धत में 1:2 और 2:3 ह।ै 

ददिणी गोलाद्धत में भदूम और जल का अिपुात क्या ह?ै

A.1:3

B. 1:4

C. 2:3

D.3:4

E. None of these
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